
20-7=___ ___-4=6 25-9=___ 

30-8=___ 

7-___=3 

11-11=___ 14-___=7 30-10=___ 

13-8=___ 28-7=___ 

Thursday 21st January 

Subtraction Game 1 



CHALLENGE subtraction game 

47-13=___ Tim has a bag of 30 

sweets. He eats 13. How 

many sweets does he have 

left? 

90-___=64 60-60=___ 

Ethan had ____ toys. 

He sold 13 of them 

and now has 21. How 

many toys did he have 

before selling any? 

___-18=30 

69-54=___ 45-28=___ 56-___=31 

A shop had 50 balls 

and sold 14 balls in a 

day. How many balls 

does the shop have left 

at the end of the day? 

___-17=49 


